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T i = mg/ 0 <0.02 <0.02 <0.02
# ok 4B ng/Q <. 0005 <.0003 <.0005
Bi7AShk Hng/f o Y
P C B|ng/f i
P H - 7.9 7.5 7.9 7.8 6.9 7.9
£ D 0| mg/ 2 10.0) 9.7 8.5 8. 7.4 7.8
#B O Dimg/Q 0.6 <0.5 <0.5 1.0 <0.5 1.1
C 0 Djimg/d 1.4 1.3 1.8 2.0 1.8 1.5
#'s S| g/ £ <1 i 1 <1 1 <1
H oA B W 2 HPN100-9 02601 4.9F01 3.3£01 9.2€07 3.3E02 1.4E02
B n—-Hex ng/ 9
£ B T/l 0.23 0.21 0.20 0.18 0.23 0.34
2 # ng/ 0 0.007 0.012 0.007 0.010) 0.008 0.008
T /=R | me/ 2
50 mg/ 9 <0.01 <0.01 <0.01
HE 8 me/ 0 <0.01 <0.01 <0.01
#:( B ) ne/ 0 0.4
WY (EEREN wg/ @ <0.03 <005 0.12
WMy o leg/f <0.01 <0.01 <0.01
70w Faog/l <0.15
TURIT M S T ag/ 0 0.03 0.01 <0.01 <0.01 <0.01 <0.01
I ERWEE Y Hee/0 | 0.00 <0001 0.001 0.001 0.001 0.001
BB MR e/ 0.169 0.150 0.139 0.134 0.109 0.101
OB OB Ml 0.004 0,004 0.004 <0.003 <0.003 <0.003
BlA B S|m/f <0.02 <0.02 <0.02
* ® H uS/em 58.7 52.0 56.0 45.7 56.5 62.2
& B ng/ 0 <5 <y < <5 <3 <5
E® A A Y me/R 1.8 1.7 1.2 1.3 1.9 1.4

—102—




2B kB kR EE RS

ke B oW FEELRE ) F o8
AR —ES) Iy A N I ( 006-51 )
[(FARE] L A4
£ B 8 |10/28 11/19 12/ 4 1713 2/10 377
2  $IEIER £EHEEELY | 10045 13:20 11:05 13:55 13:05 13:08
X = - 1 B B ks i i
) Bl C 17.0 14.1 2.5 6.5 1.9 3.0
— 7k 2T 12.9 3.0 S 2.0 1.4 1.9
i 0 - 052 052 052 082 082 082
oS | - 011 011 0t1 o011 0f1 0t1
e = m/S
| EEUE - TN AT o #h WD A
&R E em ‘
gl #f| ki m
£ K B m
BEBE | m 3.3 2.1 2.5 8.1
HF T Lmg/R <0.005 <0.003 <0.005
¥y 7 Y mg/p X.D. K.D. N.D.
6=} B 3 mg/ @
B 5 mg/ § <0.05 <0.05 <0.05
ZTL(B{E) |me/ R <0.02 <0.02 <0,02
1B Bt H omg/ 0 <0.02 <0.02 <0.02
w0 ok mg/ f) <.0005 <0005 <.0005
27445k e/l '
P C ¥B|me/Q
P H - 6.9 6.9 6.9 7.4 7.6 7.2
# D 0| me/ 2 9.0 9.1 9.1 10.8 11.1 10.9
B 0 Dimg/R <0.5 0.7 0.9 0.8 1.0 0.8
R®WC O Djm/f 1.3 1.4 1.§ 0.8 1.4 1.7
# S S| me/ 2 < 1 1 < ! 1
A B W B ¥ MPN/100w 1.3E02 2.3E01 4.9€01 3.3E01 2.3E01 0.8E01
B n—Hex mg/ 9
& B FEo/d 0.23 0.18 0.35 0.1§ 0.18 0.20
2 g/ <0.003 <0.003 0.005 <0.003 0.009 0.008
Fr/—NE e/ ' .
H ng/ £ <0.01 <0.01 <0.01
S 8 omg/ R 0.02 <(.0} <0.01
FEC 7 B N ng/R <0. | <0.1 <0.1
TNy (RBRE) me/ 2 0.24 0.06 <0.05
My o Ang? <0.01 <0.01 <0.01
7w Hmsp <0.15 <0.15 <0.15
FURZY M B % me/ 0 .01 0.01 0.01 0.01 <0.01 <0.01
IF| ERERE B ] me/ 0 0.001 0.601 0.00] 0.001 0.002 0.001
e 0.139. 0.034 0.119 0.114 0.111 0.113
OB R el <0.009 . <0.003 0.004 <0,003 0.009) 0.004
BA B  Simg/Q <0.03 <0.02 0.05
M & # uS/em 53.5 60,2 B1.5 60.5 §1.0 56.1
& B mg/ 2 <3 <§ <j <3 <3 <5
EE LA g/l 1.3 1.§ 1.4 <l 1.8 1.6
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L KB KR KXKE M EREREZX

ki AL FEELMET o R |
HEElEEH—ES) | ¥ N ¥y LB k# 008-51 )y
[¥ERIA] L AAA ]
= " H H | w8 5/18 6/22] 713 |- 8/24 9/16
% WEEHE {RELEE % | 15:00 12:00 10:45 10355 10:40 | 12:00

x & - B ] 179 -3 L5 Ee ]

£ #lC 20.5 19.5 20.2 24.2 27.8 - 20.9
— % - 15.00 17.0 18.99 22.2 24.1 - 20.1

ki Bl - 062} 061 062} o6q o7t 06

8 %l - 01l ' 011 011 011 011 o1

ms E |mS

R AIE - D il # Wi - i B |
% E cm :
B #f FEUKE m
2 Kk & m )

HBEHE |m .| 2.8 . 3.8 3.5 4.7 4.1 8.9

BE I oalag - | <0.005 <0.005 <0.005

¥ 7 Y meP N.D. N.D. ] N.D.

H 7 #ng/ P ) g |
B & mg/ <0.05 <0.05 <0.05

JULBHE |me/ R <0.02 : <0.02 <0.02
18 3k = me/ 2 <0.02 <0.02 <0.02

L ' <.000§ ~ <.0005 : <,0005
Blvhs8k $Rng/Q ’ |8

P C Blw/2 . "

P H - 7.9 7.6 8.1 7.5 8.0 | 7.9
% D Of mg/ £ 9.9 9.9 3.0 7.4 7.7 8.0
HB O Dinmg/@ 1.4 1.0 1.0 0.5 2.4 0.9
BWC O Dimg/Q 3.0) 2.7 2.8 2.3 2.9 2.0
# s 'S{ ma/ g 4 <1 <1 <l <1 <l
H K B & 2 HPN/100md 0.8E0L 1.3€01 1.1E04 7.0E03 9.2E07 2.2E02
Biln—~Hex ng/ £ : .

2 B Fw/l 0.43 0.35 0.2 0.31 0.41 0.24

£  ag/ R 0.0047 - | 0.007 0.008 0.007 - | 0.005 0.004

Jx /) |mg/Q )

5H mg/ R <0.01 , <0.01 ' <0.01
+ & mg/ P <0.01 - <0.0] .| <0.01

(B M M ) ng/p <0.1

W (R me/ 2 " <005 <0.05 <0.05
My O Ao/l , <0.01| <0.01 <0.01

7 v Foogs/p ) ) <0.15

TUETT 1 2 B mg/ 0 0.01 0.01 <0.01 <0.01 0.02 0.01

RS = % o/ 0 0.004 0.00% " 0.001 0.001 0.001( 0.002

WBEZE e 0.28§ - 0.277 -0.162 0.237 0.141 |-0.1m

OB O PHag/ 0 <0.003 <0.003 <0.003 <0.003 0.003 <0.003
BlA B S|m/f ' 0.0 ' <0.02 0.0q

% 28 W uS/em 71.7 59.2 68.9 | 2.9 82.3 79,9

b3 Bl mg/ @ <5 . <5 . <5 ' < < <3

EFE AL /L 2.9 3.0 2.7 3.4 3.8 3.




2 HF B A2 XKHEMERESE X

kg biA nl . VIAEENAN o M om
HaBH(MEIE—-FT) M ¥y L B oK it ( - 008-51 )
[¥ERY-2] ' [ AA4 ]
= A 8 | 11716 12/ 9 1/20 w15 3/11
2 WEES FRERESHI | 10146 10145 14:10 1050 10:40 | 15:55
X w - B L5 ME By - B
= Bl T 19.1 13.2 5.0 5.0 -2.0) 13.41
— %k 2T 16.9 12.0 7.1 5.0 2.8 4.9
H Ho- 051 062 062 062 062 062
e w1l - 011 011 ol olt 011 ~oon
@ B | m/s : :
IH | EmE | - L i s # #0 G
IR cm ' :
Bl #% HENUkE m
2 kE* m . ]
IEEEE | m 9.0 6.3 7.0 6.7 8.2 5.5
HFE I Lng/ <0.009 <0.005 <0.005
@ b 7 2 mg/ @ N.D. N.D. N.D.
H OB & ng/ R .
FH 86 mg/ £ <0.05 <0.05 <0.05
ZOL(GH [m/L - <0.02 . : <0.02 <0.02
IE W g/ 9 <0.02 <0.02 <0.02
1ol ok EEegs <.0008 | <.0005 <.0005
BT st ok 58 aesQ
P C Tt/ ‘
P Hl - 7.5 7.3 7.2 7.5 7.0 . 1.8
# D 0| mg/ R 9.2 9.9 9.3 9.3 10.4 11.1
B O Dlmsp 1.9 <0.5 1.7 0.4 1.0 0.8
®WC O Dim/R 2.8 ‘ 2.3 2. 1.4 1.8 1.8
t#ws  slmrg < <1 <1 < < <1
H A B P 8 MPN/100n9 5.4E02 1.3€02 1.3E0Y 0.2E01 0.0E01 -] 00801
Bln—Hex mg/ 9 . i S
2 B FHw/l 0.37 0.37 0.39 0.38 0.3% 0.39
& i me/ «0.003 <0.003 0.00§ <0.003 0.003 0.003 -
ZJx/—ASE |mg/ R :
» H mg/ @ <0.01 <0.01 - <0.01
i} $Bimg/Q | <0.01 ' <0.01 <0.01
SE(E BTN/ <0.1 . <0.1 ) <0.1
| Wy (PRRRE)| me/ £ <0.05 <0.04 - | <0.0§
Wy O Aleg/f <0.01 <0.01 ' <0.01
7 7 g/ 0 <0.15 <0.15 <0.13
TURTY 1 = Foog/ 0.01 0.01 0.02 0.01 0.01 0.01
TR | me/ 0.002 0.002 0.001 0.001 0.001 0.001
W B M= E e/ 0.230 0.304 0.33] 0.333 0.339 - 0.339
WOE e e/ <0.003 <0.003 <0,003 <0.003 <0003 <0.003
gaA B s|mrf <0.07 0.03 <0.07 -
1o ' = ustem 85.2 84.2 91.9 - 98.0 97.0) - 10d -
& B mg/ @ <5 <q - <q <5 <3 <§
IEE R EECY EX I EEE 3.9 | 3.8 3.4 3.




